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Primary data are:

a. Fresh b. Collected for the first time

¢. Original in nature d. All of the above

Subjective bias is eliminated in:

a. Observation method b. Interview method

c. Bothaandb d. None of the above

Following term is/are part of personal interview:

a. Focused interview b. Clinical interview

c. Non-directive interview d. All of the above

The possibility of bias by the interviewer is observed in:

a. telephone interview method b. Observation method

¢. personal interview method d. None of the above

Educated respondents become a factor in case of

a. Personal interview b. collection of data through
questionnaire

¢. Telephonic interview d. None of the above

Type-II error is:

a. Rejecting null hypothesis when it is b. Rejecting null hypothesis when it is
true not true

¢. Notrejecting null hvpothesis when it d. Not rejecting nuil hypothesis when it
is true is nol true

test is used when the sample size is small and population standard deviation
is not given.
a. Z b. Student’s t
(G d. F
Which of the following statement is the two-tailed test?
a. There is significant difference between  b. There is no significant difference

the true and hypothetical value of a between the true and hypothetical
parameter value of a parameter

¢. Hypothetical value is greater than the  d. Hypothetical value is less than the true
true value value

In a multiple regression with three variables, there are:

2. Two dependent and one independent  b. One dependent and two independent
variables variables

c. Eitheraorb d. Neither a nor b

is used as a large sample test.
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[ Answer question no.1 & any four (4) from the rest]

What do vou understand by sequence alignment? State the differences 10
between pairwise and multiple sequence alignment.

Define research problem and its necessities. 5+5=10
Explain research methods versus methodology with possible examples. 5+5=10

Following were the cut sizes of DNA when applied with restriction 10
enzyme EcoR1 and Hindlll of a circular DNA. What will be the

restriction mapping of the DNA sequences?

EFcoR1: 5.1Kb  54Kb  3.5Kb

HindIll: 6.5Kb  1.8Kb  5.7Kb

EcoR1/Hindlll: 1.9Kb 4.6Kb 08Kb 1Kb 3.2Kb 2.5Kb

Write a detailed note on data interpretation. 10

Fyplain telephonic interview method of collection of primary data 10
through its merits and demerits.

[0 test the efficiency of a new drug a controlled experiment was 10
conducted wherein 300 patients were administered the new drug and
200 other patients were not given the drug. The patients were monitored
and results were obtained as follows:
Cured Condition worsened  No effect
Given the drug, 250 45 65
Not given the drug 150 35 5
[Given, Ypes= 384 539 7.t
Df =1 2 3]

The following data give the yield on 12 plots of land of three samples 10
under the three varieties of fertilizers A, B and C.

Ard5,29,24:0]

B: 17,16, 16,18

C:24,26,30 28

Test at 5% level of significance whether there is any significant

difference in the average yields of land under three varieties of

fertilizers. [Given, the critical value of the test statistic at 5% level of

significance for (2, 9) df and (9, 2) df are respectively 4.26 and 19.38)
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